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MAAA =

62,5

51 51

D G 8,6
32,2
] I
——©- -
1
L Y @
I ¥oS o
w ™ ™0
N~ © o
=0 0 (= @ @ N
(@8 § O | P A
Y @ i é_
1 |
[
60
P (1) = EfEZ=RAR—K
Z=HhDOKNEE
Y=ty NEB
A(2)=HﬂjJE‘ET'
C=HIUBZ—>2UODINT4-AAD=)EY KRR
MBIZY NMCEENDED: A FFERL x 2 DIN 966 St M4 x 16 (£ & x 2 A4 DIN 124 A&7+ Y N x 2 M4 DIN 934
S

EMERSON.



TERERFABHND AR ( IE= ) 2023-10-11

0821304016

Fig. 1

OANANA. 5T -

62,5

D C 8,6
\ /// . 322
It - o
ﬂ 00000 é} Q; — .
i —[0 0 0 0 0= &
o ©
EREEER .
L 6@}_ “%?47

60

P(1)= EBZE=RR—b

2=V MMEF

Y=U+ty NMEB

A =HNES

C=hI>E—UDINT4-AAD=UtY NRE>

MBIZY NMCEENDEO: AFFE@L x 2 DIN 966 St M4 x 16 [E4aEES x 2 A4 DIN 124 XA F v h x 2 M4 DIN 934

&
EMERSON.



ERIERFBENDI X (IER ) 2023-10-11

0821304016

Fig. 3
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